1" MNArCKYTPIA OAYMIMIAAA MOAITIKHZ OIKONOMIAZ
INSTRUCTIONS TO CANDIDATES
OAHrIIEZ NMPOZ TOYZ AIAQNIZOMENOYZ

For each question, choose and circle the correct answer A, B, C, or D

MNa kKaBe epwTNON, EMAEETE KOI KUKAWOTE TN OWOTA amdvinon A, B, M A

1. H kaptuAn {ATNoNG evog povoTTwAiou givalr ouvBwg
Opi¢ovTia

Karakopuen

Augouoa (BeTIKr KAion)

®Bivouoca (apvnTikr KAion)

BPOwm>

A monopolist’s demand curve is typically
Horizontal

Vertical

Increasing

Decreasing

oow>

2. O povoTwANIaKOG avtaywvioudg Xapaktnpietal amd OAa Ta O KATW EKTOG
MeydAo apiBuod eTTixeIprioewy

Oupoloyevr) TpoidvTa

®Bivouoa KapTrUAn ¢ATNONG £TTIXEIPNONG

EukoAia eic6dou

>owp

Monopolistic competition is characterized by everything below except
A large number of firms

Homogeneous products

Negatively sloped demand curve for the firm

Ease of entry

oowp>




3. Z& mePIOdoUG Kpiong, To KPATOG AOKE(
A. EmekTaTikh ToAImikn 814 TNG auénong NG TTPocopds XprHaTog
B. EmekTaTikr TTONITIKF I& TNG PEiwong TNG TTPOCPOPAS XPrHUATOG
. MNepiopioTikA TTOAITIKA dIG TNG aUENoNG TNG TTPOCPOPAS XPHHATOG
A. TepiopioTiKA TTOAITIKA dId TNG YEIWONG TNG TTPOCPOPAS XPHHATOG

At times of recessions, the government employs

Expansionary policies through an increase in the money supply
Contractionary policies through a decrease in the money supply
Expansionary policies through an increase in the money supply
Contractionary policies through a decrease in the money supply

oOwp

4. Tia va aQvTIHETWTTIOE! JIa UQEDT), TO KPATOG TTPETTEI VO
AutAoel Tn @opoAoyia

AuEAoel TIC KPATIKEG DATTAVEG

Meiwaoel Ta KoIVwVIKG emdouaTa

AutAoel Ta emTOKIA

bW

As a response to recession, the government must
Increase taxes

Increase public spending

Reduce social transfers

Raise interest rates

oow»

5. ZT0 KATWQEPES TUAMA TNG KAUTTUANG p€oou ouvoAikou kdoToug (AC) 1oxUel OTI
MC > AC
MC < AC
MR > MC
MR < MC

w2

At the downward sloping part of the average cost (AC) curve we have
MC > AC
MC < AC
MR > MC
MR < MC

oow>




6. H kautrUuAn oplakou 680U HIag avTaywvioTIKNAG ETTIXEIPNONG ival

A

B.
r.
A.

OpigovTia

Kartaképuen

Augouoa (BeTIKr KAion)
®Bivouca (apvnTikr KAion)

The marginal revenue curve of a competitive firm is

00 w»

Horizontal
Vertical
Increasing
Decreasing

A.
B.
r.
A.

Mola atrd TIG MO KATW OXECEIG BEV IOXUEN;

OikovouIkd K6aToG = Pavepd KOOTOG + AQaVEG KOOTOG
Oikovopikd kEpdog = 'Ecoda — OIKOVOUIKG KOOTOG

NoyIOTIKO KEPOOG = 'Ecoda — AQavEG KOOTOG

2UVOAIKO KEPBOG = OIKovouIkd kEPSOG + Puaiooyikd kKEPOOG

Which of the relationships below does not hold?

oow>

Economic cost = Explicit cost + implicit cost
Economic profit = Revenue — Economic cost
Accounting profit = Revenue — Implicit cost
Total profit = Economic profit + normal profit

H Mapia €xel EAANVIKA uttTnKoOTNTa aAAG el kal epyddeTal otnv KuTtrpo. H agia tng

£pyaciog TNG:

A

B.

r.

A.

mepIAapBaveral T6oo o1o Kutrpiakd AEN 6co kal ato Kutrpiakd kaBapd €Bvikd
TTPOIOV.

mepiAapBaveral oto Kutrpiakd AEN aAAd 6x1 oto Kutrpiakd kaBapd eBvIko
TTPOIOV.

Oev epIAapBaveral oto Kutrpiakd AEIN aAAd repidapBavetal oto Kutrpiako
KaBapd €BVIKO TTPOIdV.

oev meplIAapBavetal oute oto Kutrpiakd AEN oute ato Kutrplakd KaBapd £0vikd
TTPOIOV.

Maria is a citizen of Greece but lives and works in Cyprus. The value of her labor:

A.

B.
C.
D.

is included both in Cyprus GDP and in Cyprus GNP

is included in Cyprus GDP but not in Cyprus GNP

is not included in Cyprus GDP but is included in Cyprus GNP
is not included in either Cyprus GDP or in Cyprus GNP




9. To Toc00TO CUUUETOXAG OTO EPYOTIKO BUVAUIKG PETPA TO TTOCOOTO

Bom>

TOU OUVOAIKOU €ViAIKOU TTANBUCOU TTOU aVAKEl OTO £pYaTIKO OUVAUIKO.
TOU oUVOAIKOU evijAIkou TTANBUCOU TO oTToio €ival epyalOuEvo.

TOU £PYATIKOU BUVANIKOU TO OTTOIO €ival epyalOuEVO.

TOU £PYATIKOU BUVANIKOU TO OTTOIO €ival €iTE PYACOMUEVO €iTE AVEPYO.

The labor force participation rate measures the fraction of

A.

total adult population that belongs to the labor force

B. total adult population that is employed
C.
D. the labor force that is either employed or unemployed

the labor force that is employed

10. Av 1o TrpayuaTikd AETN dimAaciaoTei kal o atrotrAnBwpIoTig Tou AENM ditAaciaoTei 10T
TO ovouaoTIKG AET

bW

TTapapEVEl aTABEPO
oimmAaoidleTal

gival To pIod
TeETPATTAQOCIALETAI.

If real GDP doubles and the GDP deflator doubles, then nominal GDP

A.
B.
C.

remains the same
doubles
halves

D. quadruples




Ta epwriuara 11-13 avagépovrar orov llivaka 1.
Questions 11-13 refer to Table 1.

MNivakac 1: MeTpRoeic K6oTouc via 1o epyooTdoio KAP®DIA A.E.

Table 1: Cost measures for the nail factory KARFIA LTD

MoooéTnTa ZUVOAIKO 2UVOAIKO 2100ep0
Kap@Iwv METARANTO KOOTOG | KOOTOG K6OTOG
Number of nails | Total variable cost | Total cost Fixed cost
0 €10

1 €1 €10

2 €3 €13 €10

3 €6 €16 €10

4 €10 €10

5 €25 €10

6 €21 €10

11. To yéoo oTaBepd KOOTOG TTAPAYWYNAG TTEVTE KAPQPIWV Eival:
A. €1.00.
B. €2.00.
. €3.00.
A. €5.00.

The average fixed cost of production of five nails is:
A. €1.00.
B. €2.00.
C. €3.00.
D. €5.00.

12. To y€oo peTafANTO KOOTOG TTAPAYWYNG TECOAPWY KAPPIWV Eival:
A. €2,00
B. €2,50
r. €3,33
A. €5,00

The average variable cost of production of four nails is:
A. €2,00
B. €2,50
C. €3,33
D. €5,00




13. To opiakd KOOTOG TTapAYywWYNG TOU EKTOU KAp@IoU gival :
A. €1.00
B. €3.50
. €5.00
A. €6.00.

The marginal cost of production of the sixth nail is:
A. €1.00
B. €3.50
C. €5.00
D. €6.00.

14. Otav pia eTaipeia Asitoupyei uttd ouvBAKESG HOVOTTWAIOU, N TIPN TNG TTEPIOPICETAI ATTO
TO OPIOKO KOOTOG

™ ¢ATNon

TNV KOIVWVIKHA TNG euaiodnaia

TO KPATOG

>owp

When a firm operates as a monopoly, its price is constrained by
marginal cost

demand

its social sensitivities

the government

oow>

15. MNolo atoé Ta TapakdTw gival agavég KOOTOG;
(i) TIg €TTEVOUTIKEG EUKQIPIEG TTOU XAVOVTal
(i) Toug pIOBOUG TwV EpyalouEvwv
(iii) TO KOOTOG TWV TTPWTWV UAWV

A. (i)
B. (i)
. (i) kau (iii)
A. (i) kau (iii).

Which of the items below would be considered implicit costs?
(i) foregone investment opportunities
(i) employee wages
(iii) the cost of raw materials
A. (i)
B. (ii)
C. (ii) and (iii)
D. (i) and (iii).




16. Otav 1a BIBAia oIKovouIKWY Twy TOTTIKWYV BIBAIOTTWAEIWV gival €15 10 éva, TTwAouv 70
BiBAia oikovopikwy To wRva. OTav n Tiun cival €7 TTwAouv 90 BiBAia. Zuutrepaivoupe OTi
n eAaoTIKOTNTA TNG ATNONG Yia Ta BIBAia OIKOVOMIKWY gival

A

B.

r.

A.

2,91, dpa éva BIBAIOTTWAEIO PTTOPET VA aUgroel T CUVOAIKA €0000 PEIVOVTAG
NV TIYA.
2,91, dpa éva BIBAIOTTWAEIO PTTOPET Va augnoel Ta CUVOAIKA €0000 aUgAvVovVTag
NV TIYA.
0,34, apa éva BIBAIOTTWAEIO PTTOPET va augroel T GUVOAIKG £0000 PEILVOVTOG
NV TIPA.
0,34, apa éva BIBAIoTTWAEIO PTTOPEl Va augnoel Ta GUVOAIKG £000a augavovTag
NV TIPA.

When economics textbooks at local bookstores are priced at €15 each, they sell 70
copies. When they are priced at €7, they sell 90 copies. We conclude that the elasticity
of demand for books is

A.

2,91, so a bookstore can increase total revenue by decreasing the price

B. 2,91, so a bookstore can increase total revenue by increasing the price
C.
D. 0,34, so a bookstore can increase total revenue by increasing the price

0,34, so a bookstore can increase total revenue by decreasing the price

17.

Tig TeAeuTaicg dekaeTieg, ol KUtTpiol eTTEAeCav avTi va kabapifouv pdvol Toug Ta OTTiTIx
TOUG, va TTANPWVOUV AToua yia auTr) Tn douA&id. Autr n aAAayr) TNV CUPTTEPIPOPA EXEI
WG aTTOTEAEO A

>owp

TN peiwon Tou AETT.

Kauid petaBoAn oto AErM.

TNV avénon tou AETI.

TNV mMOavA YeTaBoAr Tou AEIN aAAG TTpog otToladiTToTeE KATEUBUVON

During the last decades, Cypriots switched to paying people to clean their houses rather
than do it themselves. This change in behavior results in

oowp>

decrease in GDP

leaving GDP unchanged

increase in GDP

a possible change in GDP that could be in any direction




18. Mia Beopnvia kataoTpéel HeYGAO PHEPOG TNG TTApAYWYRS MAAwY oTnv KuTrepouvTa.
Tautdypova, ol TTPOTINACEIS TWV KATAVAAWTWY PeTaBAAAovTal UTTEP TwV PAAWY. Ti
QVaPEVOUHE va GUUBET aTnV TIKA Kal TTooOTNTA I00PPOTTIOG TWV KAAWY;

A.
B.
r.
A.

H iy Ba auénBei, n rToodTnTa Ba augnOei
H iy 8a auénBei, n ToooTnTa Ba PEIWOEi
H 1ipn 6a peiwdei, n moodTtnTa dev ival {ekaBapo
H 1ipyr 6a augnBei, n moodtnTa dev gival {ekGBapo

Severe weather destroys a large part of apple production in Kyperounda. At the same
time, consumer preferences shift in favor of apples. What do we expect to happen to the
equilibrium price and quantity of apples?

A.

Price and quantity will both rise

B. Price will rise, quantity will fall
C.
D. Price will rise, unclear about quantity

Price will fall, unclear about quantity

19.

Mia etTixeipnon mapaywyng oidripou TTouAd cidepo agiag €100 o€ pia eTaipeia TTou
Kataokeuadel TrTodnAata. H TeAeuTaia XpnoIMOTTOIEI TO CIdEPO VIO VO KATATKEUAOEI £Val
TodnAato Ta oTroia TTOUAG €200. Ndco cuvelo@Epouv auTéS ol cuvaAlayég oto AETT,

A.
B.
r.

A.

€100

€200

peTagu €200 kal €300 e€aptaTal atd 1o KEPOOG TToU Ba £xel N eTaIpEia
TTapaywyng TTodAAaTwyY o6Tav Ba TTWAACEI TO TTOBNAATO.

€300.

A manufacturer of iron products sells €100 worth of iron to a bicycle manufacturer. The
latter uses the iron to manufacture a bicycle that he sells for €200. How much do the
transactions contribute to GDP?

A.
B.
C.

€100

€200

between €200 and €300- it depends on the profit that the bicycle manufacturer
will make when it sells the bike.

€300




20.

O MixdAng atmmopacioe va ekiviiael Tn OIKr Tou €TTIXEipNon KowipaTtog ypaoidiou. MNa va
ayopdaael Tov atmmapaitnto €€o0TTAIoud, o MixdAng atméoupe €1.000 atrd 10 Aoyapiaouo
TaplieuTnpiou Tou, atTd Ta oTToIa KEPDIZE 3% TOKO, KA daveioBnke emiTTAéov €2.000 atrd
TNV TPATTECA PE ETTITOKIO 7%. 1600 €ival To 1010 KOOTOG eukalpiag Tou MixdAn yia To
KEQAAQIO TTOU £XEI ETTEVOUBEI OTNV €TTIXEIPNON;

A. €30

B. €80

r. €140

A. €170

Michalis has decided to launch his own lawn-mowing business. In order to purchase the
necessary equipment, he withdrew €1.000 from his savings account, which paid 3%
interest. He borrowed another €2.000 from the bank at 7% interest. How much is
Michalis’ annual opportunity cost for his investment?
A. €30
B. €80
C. €140
D. €170

21.

Moo a1ré Ta akOAoUBA PEIWVEI TO QUOIKO TTOOOOTO AVEPYIAG;
A. T0 O10QIKTUO TTAPEXEI TTEPICTOTEPES TTANPOPOPIEG OXETIKA PE aVOIXTEG BETEIG
epyaaciag
B. n kuBépvnon auavel Tov eAGxIoTo HICOS
. wneoifovral vouol TTou K&vouv 1m0 BUCKOAN ToV EAEyXO TNG TTPOCTTABEING TWV
epyalopévwv
A. 6Aa 1a o TTavw gival opBa.

Which of the following lowers the natural unemployment rate?

The internet provides more information about open positions

The government increases the minimum wage

A new law makes it more difficult to monitor worker effort on the job
All of the above.

oowp>




22. Z0PQWVa PE TN yPaAIKn TTapdaTaacn, €av n Tiun eival ion pe $14, 1é1e uTTAPXEI

Bom>

‘EAAeigpa 20 povadwy kai n Tipn 8a auéndei.
MAedvaopa 20 povadwy Kai n TP 8a PeIwoEi.
‘EMeigpa 40 povadwy kai n Tiuf 8a auénBei.
MAedvaopa 40 povadwy Kal n TINA 6a uelwBei

According to the graph, if price is equal to $14, then we have

00 w»

A shortage of 20 units and price will rise
A surplus of 20 units and price will decline
A shortage of 40 units and price will rise
A surplus of 40 units and price will decline.

23.

OewpnoTe PIa oIKoVopia TTou TTapdyel pévo aheupl kal pudl. To 2005 TTwAnRdnkav 20

OOKOUAIO aAeUpI TTPOG €4 Kal dEKa oakoUAIa pudl TTpog €2. To 2004 n TiuR TNG oakoUAag
TOU aAeupiou gival €2kal Tou pudiou gival €.1 Xpnoigotroiwvtag 1o 2004 cav £10¢ BAong
MTTOpOUME Va ouuTrEpdvoupe 6T yia To 2005
10 ovouaoTiké AETT eivail €100, To TrpayuaTikd AET sival €50 kai o

A

B.

r.

A.

ammommAnBwpioTAS Tou AEI givai 50.

10 ovouaoTiké AETT eival €50, To Trpayuatikd AET sival €100 kai o

atmmommAnBwpioTAg Tou AET givar 200.

TO0 ovouaoTIkG AETT eival €100, To Trpayuatikd AET cival €50 kai o

atmommAnBwpIoTAg Tou AET cival 200.

TO ovouaoTIKO AETT gival €40, To Trpayuatikd AET gival €100 kai o

ammomAnBwpioTAg Tou AEI givai 50.

Consider an economy that produces only flour and
rice. In 2005 20 sacks of flour were sold at €4 each
and 10 sacks of flour at €2 each. In 2004 the prices
of a sack of flour were €2 and €1 respectively. Using
2004 as the base year, we can conclude that for

2005,

A.

B.

nominal GDP is €100, real GDP is €50, and
the GDP deflator is 50

nominal GDP is €50, real GDP is €100, and
the GDP deflator is 200

nominal GDP is €100, real GDP is €50, and
the GDP deflator is 200

Price
$20
18
16
14
12
10

0 10 20 30 40 50 60 70 80 90100 Quantity

- -l

. nominal GDP is €40, real GDP is €100, and the GDP deflator is 50

10




Price s

24.'ECTW OTI Ol KAPTTUAEG OTO IO TTAVW OIAYPAPKA AVTITTIPOOWTTEUOUV TNV TTPOCPOPA
Katoikiwy. H petakivnon atrd S o€ S; utropei va TpokARBnke ato:

A.
B.

r.

A.

augnan oTIG TINEG DIAPEPIOUATWY TTOU €ival UTTOKATACTATA TWV KATOIKIWV

VEEG TTPOODOKIEG YIA TOUG KOTAOKEUAOTEG OTTITILWV OTI O TINEG TwV OTITILY Ba
augnBouv onuavTika

MIa pgiwon otnv TIPA Tou {UAOU TTou gival TO KUPIO UAIKO yia TNV KATOOKEUN TwvV
OTTITILWV TNG AyopPdg auUTHG

OAa Ta 1m0 TTévw

Suppose that the curves shown in the diagram above represent the supply of houses. The
shift from S to S; could have been caused by:

A.
B.
C.
D.

increase in the prices of apartments that are substitutes of houses

expectations by home builders that their prices will increase significantly
decrease in the price of wood, which is the main construction material for houses
all of the above

25. lMolo atréd Ta 1o KATWw gival TTapddelyua UTTOKATAaTATWY ayabwy;

A.
B.
r

A.

AuTo TO pfva o lwavvng ayépace TTEPICOOTEPA GOUPBAAKIO O€ TIA €6 TNV TTiTa aTmo
TOV TTEPACHEVO PRVa Aol TTRPE augnon otov YIocBé Tou

H Mapika ayopddel AiyoTtepeg 0okoAGTEG OTnV TiPA €0,75 atmd 611 otnv TIPN €1.

O AaBid ayopdlel TrepioocoTEPEG OPEVTOVEG OTNnV TIUA €1,50 atrd T oTtn TIPA €2,
ME 6Aoug Toug dANoug TTapdyovTeg oTaBePOUG.

H Kévtpa ayopddel Tnv AiyoTtepn TToodTnTa Shickers otav n Tiuf TG Mars JeiwoEi.

Which is an example of substitute goods?

A.

B.
C.

loannis bought more souvlakia at a price of €6 a pita this month than last month
because he got a salary raise

Marika buys fewer chocolates at a price of €0,75 than at a price of €1.

David buys more slingshots at a price of €1,50 than at the price of €2 each, all else
being equal.

Kendra buys fewer Snickers bars when the price of Mars bars decreases.
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